
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8588.5 × 0.01 = ________ 4767.8 × 0.001 = ________

9497.4 × 0.01 = ________ 4439.6 × 0.1 = ________

2953.3 × 0.01 = ________ 1452.5 × 0.0001 = ________

6011.9 × 0.0001 = ________ 4290.2 × 0.1 = ________

3802.7 × 0.001 = ________ 4345.7 × 0.1 = ________

4391 × 0.1 = ________ 5910.1 × 0.0001 = ________

1946.4 × 0.0001 = ________ 8751.1 × 0.01 = ________

4836.3 × 0.01 = ________ 7185.4 × 0.001 = ________

3811.3 × 0.01 = ________ 5005.3 × 0.01 = ________

6503.5 × 0.1 = ________ 8374 × 0.001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8588.5 × 0.01 = 85.885 4767.8 × 0.001 = 4.7678

9497.4 × 0.01 = 94.974 4439.6 × 0.1 = 443.96

2953.3 × 0.01 = 29.533 1452.5 × 0.0001 = 0.14525

6011.9 × 0.0001 = 0.60119 4290.2 × 0.1 = 429.02

3802.7 × 0.001 = 3.8027 4345.7 × 0.1 = 434.57

4391 × 0.1 = 439.1 5910.1 × 0.0001 = 0.59101

1946.4 × 0.0001 = 0.19464 8751.1 × 0.01 = 87.511

4836.3 × 0.01 = 48.363 7185.4 × 0.001 = 7.1854

3811.3 × 0.01 = 38.113 5005.3 × 0.01 = 50.053

6503.5 × 0.1 = 650.35 8374 × 0.001 = 8.374
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